
Prüfungsaufgaben Aufgabe 229 

 
 

 



1.1 

 
 

1.2 

 

In einem beliebigen Dreieck DCS gilt: 

 
             DC(φ)  

tan φ = ------- |*DS 
               DS 

 
DC(φ) = tan φ * DS = tan φ * 3 cm  

 

In einem beliebigen Dreieck ABS gilt: 
 

              AB 
tan φ = ------ | * AS(φ) 

             AS(φ) 

 

AS(φ) * tan φ = AB | :tan φ 
 

               AB            4 
AS(φ) = -------- = -------- cm 

              tan φ      tan φ  
 

1.3 

 



V(φ) = VKegelABS - VKegelDCS 

 
                π * AB² * AS(φ)      π * 4² * 4               64 * π    

VKegelABS = ------------------ = ------------- cm³ = ------------ cm³ 
                            3               3 * tan φ              3 * tan φ   

 

                π * DC(φ)² * DS      π * (3 * tan φ)² * 3             
VKegelDCS = ------------------ = ------------------------ cm³    

                              3                        3                                       
 

                27 * π * tan² φ 
VKegelDCS = ------------------ cm³ 

                           3  
 

           π          64    

V(φ) = --- * (-------- - 27 * tan² φ) 

           3        tan φ      

 

 


